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AER O BRIk X G E

HR3—2 BEWICERT HLBESNHEHECET HERA/1) ) ) REFE | P29k
StEftouE [ #SmES | 031E1004 B2 | JEN | FRTEME | LR A 25
] SMER O TimICHET 51 SERIMA
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.44 56.36 | TN | 000 ~ 444 1.94 10.40 ThLst 1.00 | 5.00 ~ 56.00 55.36 | =hLH | 5,00 ~ 56.00)| 1.94 10.40
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 724 92.15 | =ns | 000 ~ 724 2.568 13.81 FnLsn 1.00 | 5.00 ~ 1160 92.15 | #hLS | 5,00 ~ 11.60] 2.68 13.81
3 100kN/m%E#8z5 | 1.00 | 000 ~ 1.49| 12271 |3mZz#z3| — ~ — — — | 100kN/mM%&#B=2% | 1.00 | 11.76 ~ 17.12| 12271 |3m&E#BZ% - ~ — — —
st 1.00 | 1.49 ~ 928 100.00 | =nLst | 0.00 ~ 9.28| 2.66 14.25 ThList 1.00 | 6.00 ~ 11.76 100.00 | =nst | 6,00 ~ 1712 2.66 14.25
4 100kN/m%E#BZ5 | 1.00 | 000 ~ 044 106.567 |3mZEBAD| — ~ — — — | 100kN/m%E#25 | 1.00 | 11.43 ~ 1272 106.57 |3mEEZ5 - ~ — — —
st 1.00 | 044 ~ 823 100.00 | #nst | 000 ~ 823| 2.41 12.91 ThLst 1.00 | 5.00 ~ 1143 100.00 | =nhLst | 6.00 ~ 1272 2.41 12.91
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 477 59.50 | FnS | 000 ~ 0.00| 1.72 918 ThList 1.00 | 5.00 ~ 56.00 59.50 | =hH | 5.00 ~ 600 1.72 918
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 521 64.92 | #hst |0oo ~ 521|175 9.54 Fnst 1.00 | 5.00 ~ 5.60 64.92 | 0S| 6,00 ~ 560 1.756 9.34
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.99 88.68 | =nst | 0oo ~ 699 1.74 9.30 ZhLst 1.00 | 6.00 ~ 870 8868 | =nLs | 500 ~ 870\ 1.74 9.30
P 100kN/m%Z#Bz25% | 1.00 | 000 ~ 0.07| 10097 |3mx#Bz25| — ~ — — — | 100kN/m%Z#B=% | 1.00 | 1055 ~ 10.70| 100.97 |3m%E#BZ3 - ~ — — —
ThLlst 1.00 007 ~ 78| 100.00| FThLs |0oo ~ 785|219 11.72 TnList 1.00 | 5600 ~ 1053 100.00| ThLS | 5,00 ~ 1070 | 2.19 11.72
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




